RESOLUTION OF THE PAPAGO TRIBAL COUNCIL

(ENROLLMENT - January)

| | RES. NO. <u>03-86</u> | | | | | | | |
|---------|--|---|--|--|--|--|--|--|
| 1 | WHEREAS, the Papago Council has review | wed the recommendations of the Papago | | | | | | |
| 2 3 | Enrollment Committee in accordance with Section 1 of Article VIII of | | | | | | | |
| 4 | the Papago Enrollment Ordinance, Ordinance No. 05-81, and has made a | | | | | | | |
| 5 | final determination that the application of the following applicant | | | | | | | |
| 6 | for membership in the Papago Tribe be approved: | | | | | | | |
| 7 | ARTICLE II - MEMBERSHIP SECTION (1b) ALL CHILDREN | 1195-H-83 *ORTEGA, Loretta 1258-H-83 *ORTEGA, Leandro | | | | | | |
| 8 | BORN TO RESIDENT MEMBERS | 1344-H-82 *ANGEA, Ledio | | | | | | |
| | | 1361-H-83 *ORTEGA, Albert | | | | | | |
| 9 | 2427-B-85 *VALISTO, Jonelle | 1364-H-83 *ORTEGA, Vincent | | | | | | |
| 10 | 2428-B-85 *VALISTO, Elvina A. | | | | | | | |
| | 2437-B-85 *ANTONE, Susan M. | ARTICLE II - MEMBERSHIP | | | | | | |
| 11 | 2440-B-85 *MORENO, Celina J. | SECTION (1b) ALL CHILDREN | | | | | | |
| 10 | 2442-B-85 *GARCIA, Edward | BORN TO RESIDENT MEMBERS | | | | | | |
| 12 | 2452-B-85 *SEQUIEROS, Alta Y. 2453-B-85 *SIQUIEROS, Waveline | 929-GB-85 *MARQUEZ, Brian H. | | | | | | |
| 13 | 2454-B-85 *DONAHUE, Dion | 951-GB-75 LUNA, Christina E. | | | | | | |
| | Z434-D-03 BORAHOL, DIGH | 952-GB-75 LUNA, Gregg R. | | | | | | |
| 14 | ARTICLE II - MEMBERSHIP | 953-GB-75 LUNA, Gregorio Jr. | | | | | | |
| 1 - | SECTION (1b) ALL CHILDREN | 955-GB-75 SLUYTER, Johnny M. | | | | | | |
| 15 | BORN TO RESIDENT MEMBERS | 956-GB-75 NICCUM, Rose (ALVAREZ) | | | | | | |
| 16 | | 957-GB-75 PATE, Theresa A. | | | | | | |
| | 2434-B-81 PORTER, Michael R. | (NICCUM) | | | | | | |
| 17 | | 958-GB-75 NICCUM, Yolanda M. | | | | | | |
| 18 | ARTICLE II - MEMBERSHIP | 988-GB-85 *FARRISON, Marjorie D. | | | | | | |
| 10 | SECTION (1b) ALL CHILDREN | 989-GB-85 *FARRISON, Patricia L. | | | | | | |
| 19 | BORN TO RESIDENT MEMBERS | 991-GB-85 *FARRISON, Theodore Jr. 996-GB-85 *ORTEGA, Larry Jr. | | | | | | |
| 20 | 186-GV-78 THOMAS, Leo C. Sr. | 997-GB-85 *ANTONE, Adrian E. | | | | | | |
| 20 | | 1001-GB-85 *HERRERA, Alexander | | | | | | |
| 21 | ARTICLE II - MEMBERSHIP | (MIGUEL) | | | | | | |
| 00 | SECTION (1b) ALL CHILDREN | | | | | | | |
| 22 | BORN TO RESIDENT MEMBERS | ARTICLE II - MEMBERSHIP | | | | | | |
| 23 | 750 11 00 10017411 5 | SECTION (1b) ALL CHILDREN | | | | | | |
| 24 | 753-H-83 *GAITAN, Eugenia J. 943-H-85 *NUNEZ, Philadina T. | BORN TO RESIDENT MEMBERS | | | | | | |
| | 1162-H-84 *MIGUEL, Michael J. | 1446-SO-85 *FRANK, Kendrick W. | | | | | | |
| 25 | ADTIOLS II MEMBERCHIS | 1449-SO-85 *MARTINEZ, Paul D. | | | | | | |
| 26 | ARTICLE II - MEMBERSHIP | 1450-S0-85 *PHILLIPS, Nicole Marie | | | | | | |
| 20 | SECTION)1b) ALL CHILDREN BORN TO RESIDENT MEMBERS | 1456-SO-85 *JOSE, Adrian 1457-SO-85 *ANTONE, Mavis L. | | | | | | |
| 27 | BORN TO RESIDENT MEMBERS | 1458-S0-85 *ANTONE, Kevin L. | | | | | | |
| 28 | 1367-H-84 *ANTONE, Jerome | 1459-S0-85 *FLORES, Lorinda | | | | | | |
| 20 | | 1460-SO-85 *HENDRICKS, Stacy Obed | | | | | | |
| 29 | ARTICLE II - MEMBERSHIP | 1453-SO-85 *THOMAS, Leigh Ann Marie | | | | | | |
| 20 | SECTION (1a) ALL INDIANS | 1455-SO-85 *ANTONE, Hermanda L. | | | | | | |
| 30 | WHOSE NAMES APPEAR ON THE | 1502-SO-85 *HENDRICKS, Ashlee R. | | | | | | |
| 31 | OFFICIAL CENSUS ROLLS | 1503-SO-85 *HENDRICKS, Spencer RUIZ | | | | | | |
| $_{32}$ | 893-H-83 *ORTEGA, MIGUEL | 1511-SO-85 *JUAN, Monty Coy | | | | | | |
| 02 | | 1512-SO-85 *ALVAREZ, Richard R. | | | | | | |
| | | JR. | | | | | | |

^{*} MEMBERSHIP ONLY

Page Two (2) 1 ARTICLE II - MEMBERSHIP ARTICLE II - MEMBERSHIP SECTION (1b) ALL CHILDREN SECTION (1a) ALL INDIANS 2 BORN TO RESIDENT MEMBERS WHOSE NAMES APPEAR ON THE OFFICIAL CENSUS ROLLS 3 1463-SO-83 *ANTONE, Francis. 1464-SO-75 *ANTONE, Libornia L. 1469-SO-83 *FRANK, Francita (MIGUEL) 4 1466-SO-83 *ENOS, Carrie (MANUEL) 1471-SO-76 *HAVIER, Pauline Theresa 5 1473-SO-74 *MANUEL, Laura Mae (LUCAS) 1474-SO-74 *MANUEL, Loretta Irene 1478-S0-86 *JOSE, Eliziana 6 1475-SO-74 *MANUEL, Virginia Lena 1487-SO-75 *IGNACIO, Alvina 1480-S0-86 *MIGUEL, Juan 1501-S0-75 *CHATTA, Lawrence 7 1481-S0-36 *MIGUEL, Mary 1483-SO-75 *ANDREW, Heleciana ARTICLE II - MEMBERHSIP 8 1485-SO-75 *CHATTA, Shihinea SECTION (1b) ALL CHILDREN 9 1486-S0-86 *ENOS, Jimmie BORN TO RESIDENT MEMBERS 1488-S0-75 *CHATTA, Jose 10 1489-S0-75 *CHATTA, Lehina 1492-SO-75 *ANDRES, Edward F. 1490-S0-75 *CHATTA, Mendez 1470-SO-76 *GASTELUM, Velda 11 1491-SO-75 *RIOS, Molly Juana 1477-SO-83 *MIGUEL, Ofelia Ann 12 ARTICLE II - MEMBERSHIP ARTICLE II - MEMBERSHIP 13 SECTION (1b) ALL CHILDREN SECTION (1a) ALL INDIANS BORN TO RESIDENT MEMBERS WHOSE NAMES APPEAR ON THE 14 OFFICIAL CENSUS ROLLS 1462-S0-83 *AMARO, Chavella 15 1467-S0-83 *ENOS, Joe 1482-S0-86 *PITERO, Susie 1465-S0-83 *ELLIS, Karla A. 16 NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above 17 18 named applicants are eligible for enrollment as members of the 19 Papago Tribe under Section 1 (a) or (b) of Article II of the 20 Papago Constitution and By-laws, as amended, and that their 21 applications are approved, as herein above indicated. 22 BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of 23 the Papago Tribe reduce this final determination in writing regarding 24 each of the foregoing applications for enrollment in accordance with 25 26 Section 3 (c) of Article III of the Papago Tribal Enrollment 27 Ordinance; give notice of this Council's determination in accordance 28with Section 4 of Article III of the Papago Tribal Enrollment 29Ordinance; and place the names of each applicant upon the Tribal 30 membership roll in accordance with Aritcle V of the Papago Tribal 31Enrollment Ordinance. 32

RES. NO. 03-86

* MEMBERSHIP ONLY

(ENROLLMENT - January)

RES. NO. <u>03-85</u> (ENROLLMENT - January)
Page Three (3)

The foregoing Resolution was duly enacted by the Papago Council on the $\underline{08th}$ day of January, 1986, at a meeting at which a quorum was present with a vote of $\underline{1523.0}$ for; $\underline{-0}$ - against; $\underline{117.0}$ not voting; and $\underline{-0}$ - absent, pursuant to the authority vested in the Papago Council by Article II and Article V, Section 2 (f) of the Constitution and By-laws of the Papago Tribe of Arizona as amended, ratified by the Papago Tribe on December 12, 1936, and approved by the Secretary of the Interior on January 6, 1937, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). Said Resolution is not subject to review by the Secretary of the Interior and is effective as of the date of its enactment by the Papago Council.

THE PAPAGO COUNCIL

Josiah Moore, Chairman

ATTEST:

Ophelia F. Campillo, Secretary

| MOVED: Kenne | th Chico | SUBJECT: Approval of Tribal Membership | | | | | |
|--------------------|--|--|------------|-------------------------|---------------|---------------------------------------|--|
| SECOND: Julie | | Section (1b) & (1a) | | | | | |
| DATE: <u>01/08</u> | /86 | | RESOL | RESOLUTION OR ORDINANCE | | #_03-86 | |
| DISTRICTS | REPRESENTATIVES (| # OF VOTES | FOR | AGAINST | NOT VOTING | ABSENT | |
| SIF OIDAK | 1. Elliott Lewis | 69.0 | Х | | ! | | |
| 138 | (Eugene F. Jose) 2. Nicklos Jose (Letitia Garcia) | 69.0 | X | | | | |
| SELLS | 1. Andrew M. Patricio | 128.5 | X | | | | |
| 257 | (Nora Alvarez) 2. Fred Stevens (Dennis E. Jose) | 128.5 | X | | | · · · · · · · · · · · · · · · · · · · | |
| SCHUK TOAK | 1. Joseph Juan | 52.5 | X | | | | |
| 105 | 2. Julie Carrillo (Jo Ann Francisco) | 52.5 | X | | | · · · · · · · · · · · · · · · · · · · | |
| SAN XAVIER | 1. JXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX | 63.0 | X | • | | | |
| 126 | (Austin Nunez) 2. Tony Felix (Carmelita Mattias) | 63.0 | X | | | · · · · · · · · · · · · · · · · · · · | |
| BABOQUIVARI | 1. Joann Garcia | 120.5 | . X | | | | |
| 241 | (Edward N.Kisto) 2. Kenneth Chico, Sr. (Frances Miguel) | 120.5 | X | | | · · · · · · · · · · · · · · · · · · · | |
| GU ACHI | 1. Angelo J. Joaquin, Sr | 79.0 | X | | | | |
| 158 . | (Jonas R. Robles) 2. Fernando Joaquin (Fred Adams,Jr.) | 79.0 | . X | | | | |
| PISINEMO | 1. Chester Antone | 58.0 | X | | | | |
| 116 | (Sylvester Manuel) 2. Johnson Jose (Edward D. Manuel) | 58.0 | Х | | | · · · · · · · · · · · · · · · · · · · | |
| SAN LUCY | 1. John Reno | 42.5 | Х | | | | |
| 85 | () 2. Max P. Jose (Dewey I. Ortega) | 42.5 | Х | | | <u> </u> | |
| GU VO | 1. Cross Antone | 58.5 | · | [| Х | · . | |
| 117 | (Fern E. Salcido) 2. Virgil Lewis (Roy Montana) | 58.5 | | | X | . . | |
| HICKIWAN | 1. Henry A. Ramon | 64.0 | X | | | | |
| 128 | (Pablo Baptisto) 2. Lloyd Francisco (Eleanor Santos) | 64.0 | Х | | | · · · · · · · · · · · · · · · · · · · | |
| СНИКИТ КИК | 1. Rosemary Lopez | 84.5 | X | | | | |
| 169 | (Anita C. Clark) 2. Harriet Toro (Marvin J.Thomas) | 84.5 | Х | | | | |
| TOTALS | | .1640.0 | 1523.0 | -0- | 117.0 | -0- | |